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\vo E : 5) Structure of (S,R)-Josiphos?

: 1) H,C=CHMgBr, Cul
+ 2) TBDPSCI, imidazole
+ 3) Grubbs Il, H,C=CHCO,Me
i 4) TMS-SEt, AICI3
: 5) MeMgBr, CuBrsSMe,,
: (S,R)-Josiphos (2%)
1-11 | 6) Et;SiH, Pd/C
+ 7) Ohira-Bestmann reagent, K,COs,
. MeOH
+ 8) 9-1-9-BBN, then AcOH
+ 9) Zn, LiCl, then 1, Pd(PPh3),
+ 10) TBAF
+ 11) Acy0, pyridine, DMAP

: 8) Structure of 9-1-9-BBN?
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! 12) 2, CUCN

+ 13) NaOH

! 14) ICI, then TBAF

+ 15) ethyl vinyl ether, t-Buli,

BF3°OEt,, then aq HCI

L

TMS MgBr
2

: 16) allyltrimethylsilane, BF3*OEt,

: 17) NaOMe

+ 18) MeOCgH,4CH(OMe),, p-TsOH

+ 19) TBSOTTf (2.6 eqiuv), 2,6-lutidine
: 20) DIBAL

: 21) (COCI),, DMSO, Et;N

+ 22) 3, 4 (cat.)

i 23) TBSOTH, 2,6-lutidine

: 24) DDQ

1 25) B, Pd,(dba)s, PPh3, Cul, HN(i-Pr)
' 26) 5 (cat), PPTS

E 27) OSO4, NaIO4

+ 25) Name the reaction.

26) Hint: 2 rings are formed.
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. tBu‘IZD--Au@-NCMe 29) Draw a transition state to explain the
AcO : : stereochemical outcome.

AcO.,,

AcO

 28) CeCly*7H,0, Nal, MeOH
: 29) TMSOTT, allyltrimethylsilane
E 30) K2CO3, MeOH

28-34 | 31) TBSOTf (excess), 2,6-lutidine
 32) 6 (cat), 3-buten-1-ol 5 OH Me
. 33) TBDPSCI, imidazole ' ~
\/ 1 34) CSA
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+ 35) Pb(OAC),

+ 36) 7, SnCl,

+ 37) n-BuLi, (BuzSn),

. 38) MgBr,*OEt,, C

+ 39) PPhj, 4-nitrobenzoic acid, DEAD

+ 40) NaOH

+ 41) TBSOTT, 2,6-lutidine

1 42) Ph3CK, PhNTf,

+ 43) (BuzSn),CuCNLi 5

: 44) A, Pd(PPhs),, CuTC, + 44) Name the reaction.
i [BuN]J[PhyP(=0)Q] !

+ 45) HF-pyridine

35-45
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